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5. (Conwm) 5'6) SUOJWJJ}e ‘sz ponoa)/ﬁj CrosSg I‘a‘rlfoj:

(@) (F+i,1,0, %)
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=~ (4+i)* = ~4(al) =-;
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Y. (Canwmj 5-7) 7X Tz = Tz +d , Finc/ 22,%3, 2y
(’M desm J a,}:,c,J) Such Hhat T = (7\’) <2, %, 2,1)

SO’M—’-)’DI): OEWMC, '#\n.t T-,’Z_ = -JC_ZZ:___AQ__ MJ T(O) 6 J
T_,(i) = ;l:f S T_’(oo) = —%—‘ 7-1‘2 e é)"/(,

TZ, = (Z, *"g" ‘%)':.LZ) '—i—)
+b
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= 7‘200 % we Can choose d,é,c,o’ to be. "‘eﬂJ ﬁMnLef‘&
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6. (Gmwwj 3- ‘1> U Tz = ?—:Tzé‘, fin necessouy o
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Define ‘H\L mé.l:n'u,g mk,os A;/ S=(-f-’0To(.f. (’(’2'”'/'/7' T(S')":S’
A SHE e By pnsirscate B e
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LA=2)2 + (LA+%
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/
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7. (Grway 3-10) Gnsidor e inkaior I he. wait dok ID =
i {Z’ 2= % i Gind ol Mebis Aronsformations T sud #hat
T(ID) =
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Hene T(5') =5 67 The ki P"bLL&m, Hhis meons that:

TZ_ o b A2 +b

. FW#W»M@, Since /D s (onnccﬂc/, L',l /5 @00'3'1
Yo insive  Hot T(o0) = %e‘:ée N <= %—6 N
me'/(: 67’ &Jj'wﬂll'n,s #ua Cae/Wl'u(y\%S, f?l /s IODSIIL[L ‘Lo whz@
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3. (&an&) 5‘/3) 5/’1/‘(_ a J/S(,a,ssfon (X 7%1 ma//o/'ng

=) = '5-_‘ (z +}§_>
So/u‘}'fon: [z,t /D = {Zi /Z,<1§ Ma‘ /0)(: {Zi IZ(?.{} U{w}

Any ZG/D* /1&% o /?o’W I‘Qf/‘e{z{)%d?lfoﬁ ye 4/\& ﬁonn Z’—TF‘C‘:B)

>4 and 0€[o.), writing F(re?) = & (rei*s )
= ((r+0 s, (r-4)sind) shows #hat F carries Fhe Cirdle
= ”f‘ 5“2 + 52
Iz|=r onto the ellipse r+H"  (r-+H?
ma&of oS l”ﬂﬂ‘n‘ r++ and Sewmi-minor ot :/g [w;#» r-+
&AQMMMt,J~HZ)=F%%) WMR~ZK=Qé% he>1, 6 €
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stz = £zl > (o) (im k) > 0- oo ibishetly Al
Hot =862 = =% =Xz M FW‘}I’W s injcdlt'u\a on
)D* 7} f—> o9, ?(rcda)'—aoo M(‘/f % r'—%i-‘-) Y—(mué),% G;'Se
Hopce Emaps ID¥ bijec wely onto L2 = Coo E1A].
A similac analysi Shows that FilD >S5 is @ o fom) bijedion.

—_ w/#\ Sem) -




q. (C’onwwj B-H) Suﬂooje Hut one cirhe. s @n‘lla,h,qj inside.
omo#uzf M«e#«if ‘Huﬂ are +an)m't a)l#c /’O'bf a . lt & /»c #&
resion bedween Phe too cinkes and map G conharmail y onto Fhe
open unit disk ID.

So/u:‘fon: 5}/ SUJI’WS MJ f‘a)‘a:h’ﬂs “l’/””f"w)’ (MJ 13/ SI«:’HA/@)
We "Wj essume, that G =0 ond Hhat the cim&g osre

o kfogiey ol (aob)irgt = ke b
The mep 21>z carries thase Circhex onts the lines »= "E C"/ZJ
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lo. (C’en«wwf) 5-1%) [eft -o0o<a<b<eo apnf P“'é Mz =
= :::: . M;'n{, ‘/‘Az__ ,:’n&g L, = {2: 7mz_=l,%) L2=§2: 7,,.7_=a’§
CU?_J L3= {Z: RCZ'—"'O%‘ Deﬂéff"?ilﬂe DOL)/(/L J?L}\L rtﬁ)'ol)s A’b’
c, b, EsF o in F"jM 1 ore mAf]sz Ly M onto 71}\,@ Y\sz'bng

U, v, WX, 7Y, 2 in E’Jmﬁ_

A D

b 2 W
M V4
\J_/
C ““* F X <
g = Frg. R.

Solution: OBSM‘VE first #\Aj} M“—b} = ,Rm This ﬁo”ooos
From dracking the 3 points M0)= 8¢ R, Meo)="de/R and
M(Lb) = oo, Since vbe Ly NLa onol Hhese linex o OF#DJO/\AA)
ML) = §z: Bex =43 Finally, ibg Ly 50 M(L2) doex not
ontain oo . Hence /V\U-ﬂ) me be a cirche . This cinede. comlm%&
the, points 0= Miia) and 4 =Me=) bad it Jos 2o be orhegonh

to N\(Lb) = R, Shw La L Lo, We e the or/amla[fon
principle. to identify the regions og Bk o
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A o T D
> > " W
A
8 £ & U7 o
> da#} _
C ¥ 4 4 F 5 _X‘/} .

The orientation of La is given by (&, b, o) ard T Baedid
to (0,001) Thus MLy) = Ru is oriented in the direcbion
Crove 5 It f LPE,

M a similor way | qived
Hhe Cor/‘e,(/)onJvfr\S orfen Jatien
-}of }eo btom .

Hhe or/en%ué‘an (e0,cb, L-a+LL) of by,
J M(Ll) 'S (') oy I-—I—L) wan ’'s

Given the ortentation (02504 b-a +ia) of Ly we oblain

) a5 he orientabon A M(Lz)
We can Now Coscijn #\u I\CJI'OAS N 'ﬁj‘i’ +o COVMIDO/\J)'AS

? ‘9. & . For inthance, A is oabore L &/ZJ ¥ Ll uz':
Hence , 3 must be  below MLy and to e right N

CHenw MI(A)=Z. Similarly M (B) =X, mec) =Y

(i)0> L;;:é—‘



